normalized X?

Entries 499

107}

1072

107

0.

Mean

1.052
0.5972

0 2 4 6 8 10 12 14 16 18 20
2

X

[ normalized x? probability |

Entries

509
0.494
0.3059

8
Prob(xz)

m=m== DQM_mkFit_TT_baseline_6iter

= DQM_mkFit_TT_RetrainV2_WP1_6iter

5 p—
% S E
SET: nAE
< 2 3F
\ — E
1. E
s 2
1.4 Voo
1.2) -
-
- 2f
08 -3f-
0.6 —4E
o ! i i i o =5F
3 ] j i : 5 k-
@ -] q M Ha o
0.9! 3 N l H
232 1 0 1 2 3 = 0 2 3
n TP n (PCA to beamline)
A
2 18
< 1.6
\"
1.4
1.2

g 5 : : :

n E : : :
- A b 1 rrreeeees

=X o . . .

= F : : :
o 3F------ - B | I R FEEEREEED

v o . . :
I . s
R | N 0 | R R
oF] % A
= I L1118 1 R R

: j i i

o Y I :
& === — ] -l--' [~ rcmmmmmms
[0 S | R EPPPPPRR

107 1 10 10%

Ratio

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, ]et?



	Contents
	Page 1


